
1

51890
111 Yoke Trolley Casting

2
2 32050 4137-C 3.2 Load Wheel

57121 ETA-8 Axle

2

3/4" Dia. 1215

3
N-5100-66PP Snap Ring

5

55040 N-5100-075 Snap Ring

6

25161 ETA-8 Guide Roller Assembly

2

7 59470M

M10x1.5 x 50mm SHCS 

1

4

1

M10x1.5 Nylon Insert Nut

M16x2.0 x 90mm HHB 

52455 M16x2.0 Nylon Insert Nut 1

STOCK
CODEREF. DESCRIPTION QUANTITY

20052 SADDLE LOAD TROLLEY   

44

1 2*

2*

3

4

4

5

6

7

* For a trolley with Black Load wheels use replacement load wheel:

STOCK 
CODE DESCRIPTION

3.2 Flat Black Load Wheel Assembly32040
N-5100-66PP Snap Ring

QUANTITY
4

© Copyright 2014, Unified Industries, Inc. All Rights Reserved.  www.unified-ind.com


